HfA Altezza del pendolo in funzione dell'ampiezza.

A CA = T/RZ-A2 H=R-CcA

= 9,54 10-9,54 = 0,46

4 10°-3° = 100-16 = \/84 = 917 | 10-9,17=0,83
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HfA Altezza del pendolo in funzione dell'ampiezza.
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HfA Altezza del pendolo in funzione dell'ampiezza.

A CA = W/ R*-A° cA | H=R-cA

100-16 = V84 9,17 | 0,83

\/j
\/—
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3 10°-3° = V100-9 = Vo1 9,54 | 0,46
\/j
\/—
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HfA Altezza del pendolo in funzione dell'ampiezza.

A c:A:\/RZ-A2 cA H=R-cA

N

S

S

s | V10o.3 - Y100-9 - Vo1 |954 | 046

4 m: 100-16 = \/; 9,17 | 0,83
'

10




